Uwit Z Review

K2 -] y
P e, x2 2 y= x! (V% -3%)

ws 13

Y= 3 (vE -3%) + x U 5 -

ConNT
fy=1
Lic xr21 Lo Gen=) —
¥~ ! 3) _‘:()- X2-¥3X
pief T
Left
S T . - ’ (- 2)(2x+3) - -(x%3%)
e Lt a L L e o
2,: wt |
=y { 3x-3
;a.,“.'fcz‘%?—’;%ﬁ k-1l o

£ is not dFL @x:]-

4) \/ = (x22541)>

e 3lx|- ?.k+l) (2x-2)
B -l aeien + (D)

£ £0)= xZ5%v2;| x=-2 ) 40) = x?k3x+Y  Hy-y =
?";“f slope | T Fask . \= Yy-7
(2,4 $0):=3x>5 4'0c)= 2x +3
L= 2x+3 =Y
X= /z, %)

T: y-4= 1(x+2)
Wiy =Y (x02)

) £00 \)7_—3;— 23 £l fuoh 9) s B2y
sla

()= far3h+q. 7 2y

G, ) £0)= “(X-ZY) Clax-2)

£(3)= v'g"; - q) B=f-9
B"H*JF

T: y-v3= =(x-3) B'(2)= £ (2)3(z)+ §(2) £ (2)
= (3)( 1) +(—z)($)

L)
TN y—f=—E2(¥—3) ={<

A. -,p +7_3 {
A('S) -F($)+2:]'(3) 'C-I

)



|o)c=T | n) D=-5=3"
’-'Fjl_ﬁtpl = :——’!_'31
Cl- i | D 4 Q
Eed ' ' 1 LEg 9 0) 4
I( ) :(3)("3; "(3)(7') p'(2):= Ej[):{t 25
(R
-3
DR L7 I x ¥ (Heosx - 3tans)
3 I =y Y (-Hsinx 3sec"x)+LI¥3/"fcqsx 3-1-&.119
. 3‘F -£ 3’
pedE s s
J cos X
Ly aFR)-£®g(y) M) F¥) = e I
CO(”] £(y): ([++auy)(-5mx) cOSx(SCC x)
E,('ﬁ): (o) ;-IO — ’é (l‘f'"'ﬂﬂ’()
1S) y = x”[3CScx) ‘ b (f+ 3 S %) E |4 : ‘- X K, Q

y'= 2lxfesex - 3xesex ot x

ety = L
\f = 12bxceesx - 21x cscxco{'x - 3)( (csc x cscxco{")e\ + 2b< csex Co{*]

+anx
SNECT
I (Zx +cSex) [—Secle-— Hanx' (2 ~cseg cotr)
£ (Zr a+esex)”
1) = sin (3x-4) 1g) £69) = Lan? (Hxh-21)
\/': 3 cos (3x-4) f0)= 3 [{'ﬁ‘\ f‘!f-—b-)] , sec 2(4x*~ Zy) (z‘fx Z)

- (x*+2) [co’l')t Zx) | |
P YY (i’—ﬁ’)‘f S/to-bz zx)v(-c.ﬁc x-z) + ("f"'z") 4(" "‘7-)3 {3")



